ANSWERS: GR 11 PROBABILITY

1.1 S={(1,H); (2,H); (3,H); (4,H); (5,H); (6,H); (1,T); (2,T); (3,T); (4.T); (5,T); (6,T)}

1.2  1.2.1 Plodd and head) = f—z = 1=10,25

4

1.2.2 P(prime and tail) = 1—2 = i = 0,25

1.2.3 P(less than 5 and head) = % = %= 0,333

1.2.4 Pleven and tail) = 13—2 = i = 0,25

2.1
S=150
57 15 63
Excel(72) Calc(78)
2.2 224 15 2.2.2 63 2.2.3 57 2.2.4 15
23 2341 5 =01 2.3.2 % = 0,42
57 15
2.3.3 = 0,38 234 —=101

3.1 P(a number less than 4) =§ =08

3.2 P(a number greater than 4) = %: 0.2

3.3 P(a number greater than or equal to 4) = % = 0,4
3.4  P(divisible by 3) = % =0,2

3.5 P(not divisible by 3) =§ = 0,8

3.6 3.4 and 3.5 are each other’s complements.

3.1 and 3.3 are not each other's complements.
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4.1
S=250 Rughy(180)
82
12 TO
16 Soccer(9s)
7 5 4
Basketball(40) 4

4.2 4 members

4.3 16 members

d.4 4192'}'{”‘

P(A) =2 P(B) = Z; P(C) =2

2!
Let’s check for mutual exclusivity:

P(A) x P(B) = %
P(A) x P(C) = f—5

P(B) % P(C) :3‘—1

5.1 P(AorC)=PA)+P(C)-P(ANC)

2

1 —2_06
3 15

2 3
=4 =
5 5

5.2 P(A or B) = P(A) + P(B) - P(A N B)

22 _1_B_0s5

5 12 [ 20

~1—P(AorB)=1-0,65=0,35



ANSWERS: GR 11 PROBABILITY

6.1

6.2 6.2.1 P(festival) = 0,95 x 0,48 + 0,05 x 0,32 = 0,472 = 47,2%

6.2.2  P(no festival in wet weather) = 0,95 = 0,52 = 0,494 = 49,4%

7.1
More than 5 cups Less than 5 cups Total
Female 672 1565 2 237
Male 1 48% 1173 2 658
Total 2 157 2 738 4 Bgs
7.2 7.2.1  P(female drinks more than 5 cups a day) = :;;5 = 0,1373
7.2.2  P(female) ST 0,4570

4m@a5

7.2.3 P(a person drinks more than 5 cups a day) = % = 0,4407

73 OWTI answers.
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Ri1/3)

| POf) S (1/3)
B(1/3)

R(1/3)

AT (1/2) | DOfA) 5(1/3)
Bl1f3)

R (1/3)

{HOA) S(1/3)
B(1/3)

R(1/3)

PO 5 (1/3)
B (1/3)

Ry}

M (1/2) DO 5(1/3)
Bla/3)

R (1/3)

| HOjs) 5113}

B(1/3)

8.21 P(black) = :;E = %

8.2.2 P(AT with H) -

8.2.3 P(MTwith Dand R)=—

8.2.4 P(PwithS) =§



